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RUEATRGE : ~ v F o 7 — K (v MIE) FRI : 4% 445 9A 250 (H)
NE AL BN 4 [} 53] GROSS HDCP NET e

(& BB 5k BB 42 | 40 82 | 16.0| 66.0

VEERS | SnA HEAI 40 38 78 | 12.0| 66.0
(3 i it &RE 42 | 45 87 | 21.0 | 66.0
4 L KRASR ER 40 | 42 82| 16.0 | 66.0

| GG A B HEE 44 | 41 85| 17.0 | 68.0
6 L HEH EE 44 40 84| 16.0| 68.0
(7 _{&| I3 2 41 | 39 80| 12.0| 68.0
(8 {7 sk M 42 | 45 87 | 18.0| 69.0
g@'_f; HE PER 39 | 42 81| 12.0 | 69.0
10 LRl BiA 46 44 90 | 20.0 | 70.0
11 AL | IR X5 47 46 93 | 23.0| 70.0
12 i |[{£8E B+ 38 42 80 | 10.0| 70.0
13 fif | KA 37 43 80| 10.0| 70.0
14 i | &)1 ELE 47 40 87 | 15.0| 72.0
15 fif | TIE Hi 49 43 92 1 20.0| 72.0
16 i | Ak |5 42 43 85| 13.0| 72.0
17 L | W)l 2 45 48 93 | 21.0| 72.0
18 i |3RhH BE 46 40 86| 13.0 73.0
19 {7 | K7 ok 45 42 87 | 13.0, 74.0
20 i | = &E 47 43 90 | 16.0 | 74.0
21 L | g & 46 45 91 | 17.0 | 74.0
22 i |HEA JEHI 46 44 90 | 16.0 | 74.0
23 AL | ¥l EIR 43 45 88| 14.0 | 74.0
24 fir | BOIf % 45 46 91| 16.0| 75.0
25 fir |IRH B3 46 50 96 | 21.0| 175.0
26 AL | FH RIRER 44 47 91| 16.0| 175.0
27 L |[#R¥x IEE 42 48 90 | 15.0 | 75.0
28 fif |#5fR FR 52 49 101 | 25.0 | 76.0
29 fir | AfR &HIN 45 46 91 | 15.0| 76.0
30 fiL | JHK #E 42 50 92 | 14.0 | 78.0
31 iz [ #EfC BRI 49 45 94 | 15.0| 79.0
32 | LRE 3k _ 48 48 96 | 17.0 | 79.0
33 iz | FHF B 47 47 94 | 14.0| 80.0
34 L | FH FniE 50 54 104 | 24.0 | 80.0
35 L &@fE K 52 49 101 | 20.0, 81.0
36 fir = ——= 47 45 92 | 11.0 | 81.0
37 fif | BepO HH 51 53 104 | 23.0| 81.0
38 L | Rfa HE 51 53 104 | 23.0 | 81.0
39 L | AHER #Z 54 53 107 | 20.0 | 87.0
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ZNE 4 [ic} E] GROSS | HDCP NET =
= ) ZiE BR 45 | 42 87 | 20.0 | 67.0
5 PE L EIR 39 39 78 | 11.0 | 67.0
B HF BE 42 42 84| 17.0| 67.0
D TRE = 49 48 97 | 30.0 | 67.0
> (D FR BF 37 | 40 77 10.0 | 67.0
® 0 FH BE 41 46 87| 20.0| 67.0
T 2| /IR e 44 | 43 87 | 19.0| 68.0
(L AT 1L FEA 38 | 40 78 | 10.0 | 68.0
0 N KB 95 42 | 44 86 | 18.0 | 68.0
: | =R AR 41 43 84 | 16.0| 68.0
HEE =5 40 46 86 | 18.0 | 68.0
| /DiE IEE 49 42 91 | 22.0| 69.0
VL | [A) RORE 42 40 82 13.0| 69.0
VAR 45 47 921 23.0| 69.0
v EH FF 45 44 89| 19.0| 70.0
VxR Bk 40 43 83| 13.0| 70.0
| RE =N 42 42 84| 13.0| 71.0
L SNEE RAT 43 45 88| 17.0| 71.0
%R 5B 45 38 83| 11.0| 72.0
V| TE 48 43 91 | 19.0| 72.0
VAR B— 51 47 98 | 25.0| 73.0
v Ab I JBRE 44 41 85| 12.0| 73.0
v RAR & 44 45 89 | 16.0| 73.0
mA iE 45 50 95 | 22.0 | 73.0
L FRBR 48 52 100 | 26.0 | 74.0
AL Bl — 51 47 98 | 23.0 | 75.0
L B AER IEX 51 56 107 | 32.0 | 75.0
| TRE = 50 43 93 | 17.0 | 76.0
L {fEH IEYR 44 46 90 | 13.0 | 77.0
R ENEN i 55 52 107 | 29.0 | 78.0
RPIIN:| 48 49 97 | 19.0 | 78.0
LR T 50 50 100 | 21.0 | 79.0
=i B 46 47 93 1 14.0 | 79.0
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RIERIRE : = v F 2 h— F(F% v ME) Flii : 5F0 44 9A 250 (H)
[[[=Riva BN 4 [id] £3) GROSS | HDCP NET fif %
(& wew a7 45 | 45 90 | 23.0| 67.0
s =
CEER) T BT 43 | 41 84 | 16.0 | 68.0
@ NI EET 42 | 44 86 | 18.0 | 68.0
4 (L K 1K 42 41 83 14.0 | 69.0
5 fif | KAR EHRZE 45 45 90 | 20.0 | 70.0
6 i | FH DH 45 45 90 | 18.0 | 72.0
7L EH EFE 41 43 84| 12.01 72.0
8 fir |db)Il Fn=EF 58 47 105 | 32.0| 73.0
9 i |E5AA #81 43 39 821 9.0 73.0
19 fr I 1252 53 46 99 | 25.0 | 74.0
11 i |HE HiTH 49 46 95 | 21.0 | 74.0
12 fif | R FF 46 48 94 | 20.0 | 74.0
13 i |HF EF AT 47 94 | 17.0 | 77.0
14 i | B 9T 51 45 96 | 18.0 | 78.0
15 i |IEK B+ 48 49 97 | 18.0 | 79.0




